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Chapter 8
The Labor Market 
Labor Supply

Labor supply is the willingness and ability to work specific amounts of time at alternative wage rates in a given time period, ceteris paribus.
Income vs. leisure

Firms determine demand of labor, but workers determine supply labor.  

· If you want to work, you will supply your services. 

· If you do not want to work, you will stay home and play x-box.

The aggregate supply of labor is the sum of the labor supplied by every one in the economy.

· When a firm determines how many employees to hire it compares the marginal cost and marginal benefit of hiring an additional worker.

· When a person determines to work or not he/she compares the marginal cost and marginal benefit of working.

Working is necessary to buy all the little toys we want.  When we work we have an opportunity cost of working, which is our leisure time.

Opportunity cost is the most desired goods and services that are forgone in order to obtain something else.

Leisure is a term used for all the off-the-job activities.  The supply of labor is derived using the following three points:
· The opportunity cost of working is the amount of leisure time that must be given up in the process. 

· As the opportunity cost of job time increases, we require corresponding higher rate of real pay.

· The marginal utility of income declies as you earn more money.

The latter two bullets are defined as:
Substitution effect of a higher real wage is the tendency of workers to supply more labor in response to higher reward for working.

Income effect of a higher real wage is the tendency of workers to supply less labor in response to becoming wealthier.  

Market Supply

Market supply of labor is the total quantity of labor that workers are willing and able to supply at alternative wage rates in a given time period, ceteris paribus.
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Factors That Shift the Labor Supply Curve
Examples are:

1. Increase in wealth

2. Expected future wages

3. Participation rate 

4. Immigration 

5. Working age 

6. Minimum wage 

Any other factor outside of real wages makes this curve shift.

II.
Labor Demand 

For this section we will hold capital (K) constant to see how labor affects on economic growth.

The following assumption will be made:

· Workers are all homogeneous.

· Firms view the wages of the workers they hire as being determined in a competitive labor market and not set by the firms themselves.  $5 – $20  

· In making the decision about how many workers to employ, a firm’s goal is to earn the highest possible level of profit.  
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Demand for labor is the quantities of labor employers are willing and able to hire in a given time period, ceteris paribus 

Derive Demand 

The derived demand is the demand for labor and other factors of production results from the demand for final goods and services produced by these factors.

The wage rate:
The quantity of labor demanded will depend on its prices (aka the wage rate).

Marginal Physical Product

Marginal physical product is the change in total output associated with one additional unit of input.

Denoted as:
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Marginal revenue product:

Marginal revenue product is the change in total revenue associated with one additional unit of input.

Denoted as:
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The marginal revenue product set an upper limit to the wage rate (w) and employer will pay.

Assume that wages decrease.  If MRPN > w1, and w1 < w0 then you will (probably) be able to hire more employees. 

If wages increase, then the firm will have harder problems hiring new work and may be force to fire an employee.

· Ceteris paribus, a decrease in the real wages raises the amount of labor demanded.

· Ceteris paribus, an increase in the real wages decreases the amount of labor demanded.

The Marginal Product of Labor and Labor Demand: An Example 

Marginal revenue product of labor (MRPN) measures the benefit of employing an additional worker in terms of the extra revenue produced. It is denoted as follows:

MRPN = P
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This formula is the same thing as MRP, but the input is well defined as Labor input.
The law of diminishing returns:

The law of diminishing returns is the marginal physical product of a variable input declines as more of it is employed with a given quality of other (fixed) inputs.

· It is true for Marginal physical product 

· It is true for marginal revenue product.

III.
The Hiring Decision

We have to recall that the MPP declines as more workers are hired.  How do we determine how many employees we hire?

1. First, we need to find the market wages for the job opening.

2. Determine the MRPN for each additional employee. 

3. If the wages < MRPN continue to hire more employees, if not stop!!!

Nominal wages (W) are wages in terms of today current prices.

Real wages (w) are in term of production (beers).
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Distinctions:

· Quantity of labor demanded, we measure the benefit and cost of an extra worker in nominal terms.

· In real terms, we would obtain the same as MPN = real
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Using (W per day)/ (P per product) we could obtain the amount of workers.

The Marginal Product of Labor and Labor Demand Curve

This graph shows that as real wages increase the less labor 







The downward sloping curve is the MPR curve.

It is because of diminishing marginal productivity of L.


Both MPN and w both are measure in units per labor.

The w* indicates the wages where profits are highest.

Where w* = MPN we obtain N*.

N < N*,
the marginal product of labor exceed the real wages (hire).

N > N*
the marginal product of labor is less than the real wages (fire).

The graph shows the relationship between the amount of labor demanded by a firm and the real wage that the firm faces is called the labor demand curve (ND).

The labor demand curve is the same as the MPN with the exception of the vertical axis, which measures the real wages for the labor, demand curve and measures the marginal product of labor for the MPN curve.

IV.
Market Equilibrium (figure 3.11)
NS = ND.  The classical model assumes real wages adjust quickly 

Equilibrium Wage 

Equilibrium wage is the wage at which the quantity of labor supplied in a given time period equals the quantity of labor demanded.

· The intersection of market supply and demand curves establishes the equilibrium wage 

· The equilibrium wage is the only wage at which the quantity of labor supplied equals the quantity of labor demanded.
Equilibrium employment 

The full-employment level of employment (
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) is achieved after the complete adjustment of wages and prices and equilibrium is reached.

The corresponding market clearing real wage is
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Pros and cons:

· Pro: this model is good because it is fairly simple to study.

· Con: one can not study unemployment.

V.
Changing Market Outcomes 
Changes in supply 
Supply shock is a change in an economy’s production function.  

· A positive shock will raise the output.

· A negative shock will decrease the output.
Examples are weather (farm), earthquake (fix capital), statistical analysis in quality control, etc…

Change in Productivity

If there is an increase in labor productivity, then employers can:

· Produce more without hiring,
· Raise salaries without sacrificing jobs, or

· Hire more without increasing salaries.
Change in Price of the Product

If there is an increase in price, then employers can:

· Raise salaries without sacrificing jobs, or

· Hire more without increasing salaries.

A Change in the Wages

Assume that wages decrease.  If MRPN > W1 < W0 then you will (probably) be able to hire more employees. 

If wages increase, then the firm will have harder problems hiring new work and may be force to fire an employee.

· Ceteris paribus, a decrease in the real wages raises the amount of labor demanded.

· Ceteris paribus, an increase in the real wages decreases the amount of labor demanded.

Factors that Shift the Labor Demand Curve 

The labor demand curve shifts in response to factors that change the amount of labor that firms want to employ at any given level of the real wage.

As we mentioned before if there is a change to any variable outside of labor.  Then there is a shift in the curve.

Union 
In general, unions provide the following:
· Higher wages

· Better job benefit

However, this comes at a cost. The costs are:

· Less jobs

· Exclusion of workers from the market 

Minimum wage

Minimum wage is great for those near the minimum wage area, however they do increase unemployment rate and job search.
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